12,

A

50

@ | alaptest vasalds:

késziil: 60,34 fm

25-30
0 € =
T %1
N ¢) S |= (4 20008/30-150
ST 30
-0 5 5| &= W
] ]
~ 30
~,06 0, 30,10
50

(5 a10-7250
V MV

50 c¢m atfedéssel toldhatd

@ J alaptest vasalds:

késziil: 5,70 fm

-0
L~z 9 9 18
= F
LY ')
0,05 _ N <
9 =
N ~
9 3
S| @ 208/30-150
-+ -+ 30
|QW§ 9 b} N5
€L 5 5 30
Lx: 8 M% 7
0
 (9) 498-6,80
i MV

40 cm dGtfedéssel toldhatd

(5 w10-680

e FMv
50 cm atfedéssel toldhatd

@ J dlaptest vasalds:

késziil: 28,69 fm

12

A

50

M

(4)9788/30-1,50

30
9 9
,m 8

@&\%

3/
37

30

2, 26 .13
40-50

(5 4910-3450

beton Iépcsé 900/25 @

A FMv
50 c¢m dtfedéssel toldhatd

@ | alaptest vasalds:

késziil: 5,73 fm

99 Y

1
=

77

J4
25
24910/25-1,52 |

(4) 2008/30-1,50
J0

/mm

| ™~
) M

-

(i)

5 5004
@&Q 5

9 S | =

8, 25 7, ~14
52 L 40

40

1 1

(9 48-700
e FMy
40 cm Gtfedéssel toldhato

(5 w0-700

e FMv
50 cm atfedéssel toldhatd

86

@ | dlaptest vasalds:

késziil: 6,80 fm

12

A

50

40 c¢m atfedéssel toldhato

o (5)610-8,20

7 v

50 cm atfedéssel toldhatd

@ | dlaptest vasalds:

késziil: 5,93 fm

19
9
é\a@
o 9
€ 9
T \%\a@
||||||| 1 ip
@&\Nm
5
@é\g
0, 30 L2, 25 5
T 7 1 T
L L
[ [
(9 68-820
V4 FMV

5
-0.21 <
Nz |
&~ A
e J
-0.33
- ®§§
. 5 5
5 @&Q
| 5 5
i 8, 25 7
' R
140
(@) 498-700
Ve

40 cm dGtfedéssel toldhatd

o &) 4910-700

V4

50 c¢m atfedéssel toldhatd

20

18

(L) 28012/25-1,53

60

(6) 2410/30-2,40

(3),2808/25-0,73
(8),28012/25-1,20

40
45
40

10
10

40

25

| 12 24910/25-153 |5
/0

(4) 2008/30-1,50

40
J/
37

S-2/1




